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(7) H|$Ð gaH$ma
1) amï´>nVr Am{U Cnamï´>nVr
2) n§VàYmZ Am{U ‘§Ìr‘§S>i
3) ^maVmMm ‘hmÝ¶m¶dmXr
4) ^maVmMm {Z¶§ÌH$ d ‘hmboImnarjH
5) amÁ¶g^m d bmoH$g^m
6) g§gXr¶ H$m‘H$mO
7) g§gXr¶ g{‘Ë¶m

H|$Ðr` H$m ©̀H$m[aUr, g§gX

1) amḯ>nVr Am{U Cnamḯ>nVr
1) d` nyU© Ho$ë`m{edm` H$moUVrhr ì`º$s ^maVmMo amï´>nVr åhUyZ {Z ẁº$ hmoÊ`mg nmÌ Zmhr.

1) 50 df} 2) 40 df} 3) 35 df} 4) 45 df}
1) No person is eligible for being appointed as President of India unless he has completed the age of

1) 50 years 2) 40 years 3) 35 years 4) 45 years

2) ¶mo½¶ H$WZo AmoiIm.
A) 1952 À¶m amï´>nVtÀ¶m {ZdS>UyH$sV Ho$. Q>r. emh ho à‘wI à{VñnYu C‘oXdma hmoVo.
~) 1969 À¶m amï´>nVtÀ¶m {ZdS>UyH$sV EZ. g§Ordm aoÈ>r  ho à‘wI à{VñnYu C‘oXdma hmoVo.
H$) 1992 À¶m  amï´>nVtÀ¶m {ZdS>UyH$sV Q>r. EZ. eofU ho à‘wI à{VñnYu C‘oXdma hmoVo.
n¶m©¶r CÎmao :
1) ’$º$ A, ~ 2) ’$º$ ~, H$ 3) ’$º$ A, H$ 4) darcn¡H$s gd©

2) Select the correct statements.

A) K. T. Shah was main rival candidate in election of President, 1952.

B) N. Sanjeeva Reddy was main rival candidate in election of President, 1969.

C) T. N. Sheshan was main rival candidate in election of President, 1992.

Answer Options :

1) Only A, B 2) Only B, C 3) Only A, C 4) All of the above

3) ^maVmÀ`m amï´>nVtZm nXmMr enW H$moU XoVmo?
1) n§VàYmZ 2) Cnamï´>nVr
3) {X„r Cƒ Ý`m`mb`mMo ‘w»` Ý`m`mYre 4) darbn¡H$s Zmhr

3) Who administers the oath of the office to the President of India ?

1) The Prime Minister 2) The Vice President

3) The Chief Justice of High Court of Delhi 4) None of the above

4) ^maVmMo amï´>nVr Ë`m§À`m hmVmImbr {bhÿZ Ë`m§À`m nXmMm amOrZm‘m XoD$ eH$VmV.
1) ^maVmMo gaÝ`m`mYre 2) {ZdS>UyH$ Am ẁº$
3) ^maVmMo Cnamï´>nVr 4) ^maVmMo n§VàYmZ

4) The President of India may by writing under his hand addressed to the resign his office.

1) Chief Justice of India 2) The Election Commissioner

3) Vice-president of India 4) Prime Minister of India
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5) ^maVmÀ¶m amï´>nVtÀ¶m {Zdm©MH$ ‘§S>img§~§Yr Imcrc {dYmZo {dMmamV ¿¶m.
i) g§gXoÀ¶m XmoÝhr g^mJ¥hmVrc {ZdSy>Z Amcoco gXñ¶.
ii) amÁ¶ {dYmZg^m§Vrc {ZdSy>Z Amcoco gXñ¶.
iii)  amÁ¶mVrc {dYmZn[afXoMo gXñ¶
iv) {X„r Am{U nwXþƒoar ¶m H|$Ðem{gV àXoem§À¶m {dYmZg^m§Vrc {ZdSy>Z Amcoco gXñ¶.
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV  ?
1) ’$º$ i Am{U  ii 2) ’$º$  i , ii Am{U iii 3) ’$º$ i, ii Am{U iv  4) ’$º$ iii

5) Consider the following statements regarding the electoral college of the President of India.

i) Elected Members of both the Houses of Parliament.

ii) Elected Members of the Legislative Assemblies of States.

iii) Memers of Legislative Councils of States.

iv) Elected Members of the Legislative Assemblies of the Union Territories of Delhi and

Puducherry.

Which of the above statembet/s is/are correct?

1) Only i and ii 2) Only i, ii and iii 3) Only i, ii and iv 4) Only iii

6) Imcrcn¡H$s H$moUË¶m H$maU§m‘wio ^maVmVrc EImÚm amÁ¶mMm ‘w»¶‘§Ìr hm amï´>nVtÀ¶m {ZdS>UyH$s‘Ü¶o ‘VXmZ H$aÊ¶mg
nmÌ R>é eH$V Zmhr ?
1) Oa Vmo ñdV: {ZdS>UwH$sMm C‘oXdma Agoc
2) Oa Ë¶mMo ~hþ‘V {gÕ ìhm¶Mo Agoc
3) Oa Vmo amÁ¶{dYr‘§S>imÀ¶m d[að>  g^mJ¥hmMm gXñ¶ Agoc
4) Oa Vmo  H$miOrdmhÿ ‘w»¶‘§Ìr Agoc

6) Chief Minister of a State in India is not eligible to vote in the Presidential election, if

1) He himself is candidate in election

2) He is yet to prove his majority

3) He is member of the upper house of the State Legislature

4) He is a caretaker Chief Minister

7) ^maVr¶ amï´>nVrÀ¶m {ZdS>UyH$s ~m~VMo {ddmX H$moU gmoS>{dVmo ?
1) gdm}ƒ Ý¶m¶mc¶ 2) gdm©oƒ Ý¶m¶mc¶ Am{U Cƒ Ý¶m¶mc¶o
3) g§gX 4) ^maVmMo {Zdm©MZ Am¶moJ

7) Who decides the disputes regarding election of the President of India?

1) The Supreme Court 2) Supreme Court and High Courts

3) The Parliament 4) The Election Commission of India

8) ¶mo½¶ H$WZ/Zo AmoiIm.
A) ^maVr¶ nmoñQ> Am°’$sg (XþéñVr) {dYo¶H$mÀ¶m g§X^m©V 1986 ‘Ü¶o amï´>nVr P¡c qgh ¶m§Zr nm°Ho$Q> {dQ>moMm

dmna Ho$cm hmoVm.
~) g§{dYmZ XþéñVr {dYo¶H$mÀ¶m g§X^m©V amï´>nVtZm ZH$mam{YH$ma ({dQ>mo A{YH$ma) ZgVmo.
n¶m©¶r CÎmao :
1) ’$º$ A 2) ’$º$ ~ 3) A d ~ XmoÝhr 4) ¶mn¡H$s Zmhr
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8) Select the correct statement/s.

A) In 1986 President Zail Singh exercised the pocket veto with respect to the Indian Post Office

(Amendment) Bill)

B) The President has no veto power in respect of a Constitutional Amendment Bill.

Answer Options :

1) Only A 2) Only B 3) Both A and B 4) None of these

9) ^maVmÀ¶m Cnamï´>nVtÀ¶m g§X^m©V Imcrcn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
i) Vmo g§gXoÀ¶m H$moUË¶mhr J¥hmMm qH$dm amÁ¶ {d{Y‘§S>imMm gXñ¶ Zgmdm.
ii) amÁ¶g^m gXñ¶ åhUyZ {ZdSy>Z ¶oÊ¶mg nmÌ Agmdm.
iii) Vmo ^maVmMm ZmJ[aH$ Agmdm.
n¶m©¶r CÎmao :
1) ’$º$  i, 2) ’$º$ i d ii 3) i, ii  d iii 4) ¶mn¡H$s Zmhr

9) Which of the following statements are correct with regarding to the Vice-President of India?

i) He should not be a Member of House of Parliament or a House of the State Legislature.

ii) He should be qualified for election as a Member of the Rajya Sabha.

iii) He should be a citizen of India.

Answer Options :

1) Only i 2) Only i and ii 3) i, ii and iii 4) None of these

2) n§VàYmZ Am{U ‘§Ìr‘§S>i
1) nwT>rc {dYmZm§n¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?

i) AZwÀN>oX 74 ‘§{Ì‘§S>imÀ¶m ñWmZmg§~§Yr Amho.
ii) AZwÀN>oX 75 ‘§Í¶m§Mr {Z¶wº$s, H$m¶©H$mc, O~m~Xmar, nmÌVm, enW Am{U doVZ d ^Îmo ¶mg§~§Yr Amho.
iii) AZwÀN>oX 76 ‘§{Ì‘§S>i g§¶wº$[aË¶m amï´>nVtZm CÎmaXm¶r Agoc.
n¶m©¶r CÎmao :
1) i Am{U ii 2) ii Am{U iii 3) i,ii Am{U iii 4) iii Am{U  i

1) Which of the following statements are correct?

i) Article 74 deals with the status of the Council of Ministers.

ii) Article 75 deals with the appointment, tenure, responsibility, qualification, oath and salaries

and allowances of the Ministers.

iii) Article 76 the Council of M

Answer Options :

1) i and ii 2) ii and iii 3) i, ii and iii 4) iii and i

2) Imcrcn¡H$s H$moUVo ^maVmMo n§VàYmZ ho amÁ¶g^oMo gXñ¶ hmoVo ?
A) B§{Xam Jm§Yr (1966) ~) S>m°. ‘Z‘mohZ qgh (2004)
H$) Am¶. Ho$. JwOamc (1997) S>) EM. S>r. XodoJm¡S>m (1996)
n¶m©¶r CÎmao :
1) ’$º$ A, ~, H$ 2) ’$º$ ~, H$, S> 3) ’$º$ A, H$, S> 4) ’$º$ A, ~, S>
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2) Which of the following Prime Ministers of India were Members of Rajya Sabha?

A) Indira Gandhi (1966) B) Dr. Manmohan Singh (2004)

C) I. K. Gujral (1997) D) H. D. Devegowda (1996)

Answer Options :

1) Only A, B, C 2) Only B, C, D 3) Only A, C, D 4) Only A, B, D

3) nwT>rc {dYmZm§Mm Aä¶mg H$am.
i) ‘§{Ì‘§S>i amï´>nVtMr ‘Ou Ago n¶ªV A{YH$mamda ahmVo.
ii) ‘§{Ì‘§S>i cmoH$g ôV ~hþ‘VmÀ¶m Omoamda A{YH$mamda ahmVo.
n¶m©¶r CÎmao :
1) Ho$di i ~amo~a Amho 2) Ho$di ii  ~amo~a Amho
3) i  d  ii  XmoÝhr ~amo~a AmhoV 4)  i  d  ii  XmoÝhr MyH$ AmhoV

3) Study the following statements.

i) The Council of Ministers holds office during the pleasure of the President.

ii) The Council of Ministers continues in office on the basis of majority support of the Lok Sabha.

Answer Options :

1) Only i is correct 2) Only ii is correct

3) i and ii bothare correct 4) I and ii both are false

4) Imbrb {dYmZo bjmV ¿¶m …
A) H|$Ðr¶ ‘§{Ì‘§S>i ho gm‘y{hH$arË`m g§gXobm O~m~Xma AgVo.
~) amï´>nVtMr ‘Ou Agon¶ªV H|$ÐmVrb ‘§Ìr nXmda amhÿ eH$VmV.
H$) {dYo¶H$m§À¶m àñVmdmg§X^m©V Agbobo {ZU©¶ amï´>nVtZm H$i{dUo n§VàYmZm§Mo H$V©ì¶ Amho.
darbn¡H$s H$moUVo {dYmZ/{dYmZo {~ZMyH$ AmhoV?
n¶m©¶r CÎmao …
1) ’$º$ A 2) ~ Am{U H$ 3) A Am{U H$ 4) gd©

4) Consider the following statements :

a) The Council of Ministers in the centre shall be collectively responsible to theParliament.

b) The Union Ministers shall hold the office during the pleasure of the Presidentof India.

c) It is duty of Prime Minister to communicate to the President about theproposals for legislation.

Which of the statements given above is/are correct ?

Answer Options :

1) Only a 2) b and c 3) a and c 4) All

3) ^maVmMm ‘hmÝ¶m¶dmXr
1) ^maVr¶ g§{dYmZmÀ¶m H$moUË¶m H$c‘mÝd¶o amï´>n{VÛmam ^maVmÀ¶m ‘hmÝ¶m¶dmXr (Attorney General of India)

Mr {Z¶wº$s Ho$cr OmVo ?
1) H$c‘ 52 2) H$c‘ 63 3) H$c‘ 76 4) H$c‘ 148

1) Under which Article of the Constitution of India, the Attorney General of India (Amendment) is

appointed by the President?

1) Article 52 2) Article 63 3) Article 76 4) Article 148
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2) ^maVmVrc gdm}ƒ H$m¶Xm A{YH$mar H$moUmcm ‘mZco OmVo ?
1) ‘hm{Ydº$m 2) ^maVmMo gaÝ¶m¶mYre
3) H$m¶Xm Am{U Ý¶m¶‘§Ìr 4) ^maVmMm ‘hmÝ¶m¶dmXr

2) Who is considered as the highest law officer of India?

1) Advocate General 2) Chief Justice of India

3) Minister of Law and Justice 4) Attorney General of India

4) ^maVmMm {Z¶§ÌH$ d ‘hmboImnarjH
1) Imcrc {dYmZo {dMmamV ¿¶m ({Z¶§ÌH$ d ‘hmcoImnarjH$ - CAG)

i) ^maVmÀ¶m amÁ¶KQ>ZoV (AZwÀN>oX 148) ^maVmÀ¶m ‘hmcoImnarjH$mÀ¶m ñdV§§Ì nXmMr VaVyX Ho$cr Amho.
ii) Vmo gmd©O{ZH$ H$mofmMm g§ajH$ AgVmo.
iii) H|$Ð d amÁ¶o XmoÝhr ñVamda XoemÀ¶m nyU© {dÎmr¶ àUmcrMo {Z¶§ÌU H$aVmo.
iv) Ë¶m§Mm H$m¶©H$mc 5 df©o AgVmo.
darcn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
1) i,ii Am{U iii 2) ii Am{U iii 3) i, ii, iii Am{U iv 4) ii, iii Am{U  iv

1) Consider the following statements (Comptroller and Auditor General - CAG).

i) The Constitution of India (Article 148) provides for independent office of the Comptroller and

Auditor General of India (CAG).

ii) He is the guardian of the public purse.

iii) He controls the entire financial system of the country at both the levels - the Centre and the

State.

iv) He holds office for a period of five years.

Which of the above statements are correct?

1) i, ii and iii 2) ii and iii 3) i, ii, iii and iv 4) ii, iii and iv

2) amÁ¶m§Zr R>odmd¶mÀ¶m bo»¶m§Mo AmH$ma H$moUmÀ¶m ‘mÝ¶VoZo {d{hV H$aÊ¶mMm àm{YH$ma {Z¶§ÌH$ d ‘hmboImnarjH$ ¶m§Zm
XoÊ¶mV Ambm Amho?
1) amï´>nVr 2) n§VàYmZ 3) amÁ¶nmb 4) ‘w»¶‘§Ìr

2) Comptroller and Auditor General is empowered to prescribe the size of accounts to be maintained

by the States with whose approval?

1) President 2) Prime Minister 3) Governor 4) Chief Minister

5) amÁ¶g^m d bmoH$g^m
1) ¶mo½¶ OmoS>çm Owidm

cmoH$g^m g^mnVr H$m¶©H$mc
A) ‘Zmoha Omoer I) 2014 - 2019
~) nr. E‘. g§J‘m II) 2004 - 2009
H$) gmo‘ZmW M°Q>Ou III) 2002 - 2004
S>) gw{‘Ìm ‘hmOZ IV) 1996 - 1998



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ZmJ[aH$emó / 72

n¶m©¶r CÎmao :
A ~ H$ S>

1) iv iii ii i
2) iii iv ii i
3) ii i iii iv

4) i ii iii iv

1) Match the correct pairs.

Speaker of the Lok Sabha        Tenure

a) Manohar Joshi i) 2014-2019

b) P. A. Sangma ii) 2004-2009

c) Somnath Chatterjee iii) 2002-2004

d) Sumitra Mahajan iv) 1996-1998

Answer Options :

a b c d

1) iv iii ii i

2) iii iv ii i

3) ii i iii iv

4) i ii iii iv

2) Imcrcn¡H$s H$moUË¶m H|$Ðem{gV àXoemMo à{V{Z{YËd amÁ¶g ô‘Ü¶o Amho ?
A) {X„r ~) nwXþƒoar H$) Oå‘y d H$mpí‘a
S>) M§{XJS> B) cS>mI ’$) cjÛrn
n¶m©¶r CÎmao :
1) ’$º$ A, ~, H$ 2) ’$º$ A, H$, S> 3) ’$º$ H$, S>, B 4) ’$º$ A, B,’$

2) Which of the following Union Territories have representation in Rajya Sabha?

A) Delhi B) Puducherry C) Jammu and Kashmir

D) Chandigarh E) Ladakh F) Lakshadweep

Answer Options :

1) Only A, B, C 2) Only A, C, D 3) Only C, D, E 4) Only A, E, F

3) Imcrcn¡H$s H$moUË¶m amÁ¶mV cmoH$g ôÀ¶m XmoZ OmJm AmhoV ?
i) AéUmMc àXoe ii) Jmodm iii) ‘{Unya
iv) {g¸$s‘ v) {Ìnwam
n¶m©¶r CÎmao :
1) i, ii, iii, iv 2) iii, iv, v  Am{U vi 3) i, ii, iii Am{U vi 4)  ii, iii, v Am{U vi

3) Which of the following States have only two seats in the Lok Sabha?

i) Arunachal Pradesh ii) Goa iii) Manipur

iv) Sikkim vi) Tripura

Answer Options :

1) i, ii, iii and iv 2) iii, iv, v and vi 3) i, ii, iii and vi 4) ii, iii, v and vi
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4) Imcrcn¡H$s H$moUr cmoH$g ôMo g^mnVrnX ŷf{dcoco hmoVo ?
i) ‘ram Hw$‘ma ii) à‘moX ‘hmOZ iii) gw{‘Ìm ‘hmOZ iv) àUd ‘wIOu
n¶m©¶r CÎmao :
1) i Am{U ii 2) iii Am{U iv 3) ii Am{U iv 4) i Am{U iii

4) Who among the following was Speaker of the Lok Sabha?

i) Meera Kumar ii) Pramod Mahajan iii) Sumitra Mahajan iv) Pranab Mukherjee

Answer Options :

1) i and ii 2) iii and iv 3) ii and iv 4) i and iii

5) gj‘ àm{YH$mar ¶mMm AW© bmoH$g ôÀ¶m qH$dm amÁ¶{dYmZ g ôÀ¶m ~m~VrV qH$dm Aem àH$maÀ¶m g^m AgUmè¶m
g§KamÁ¶ joÌmÀ¶m ~m~VrV .............. Agm Amho.
1) àYmZ‘§Ìr 2) amï´>‘§Ìr 3) AÜ¶j 4) H$m¶Xm‘§Ìr

5) Competent Authority means .............. in the case of a Lake Assembly or a State Legislative

Assembly or a Union Territory having such assemblies.

1) Prime Minister 2) Minister of State 3) President 4) Law Minister

6) cmoH$g^oÀ¶m àmoQ>o‘ ñnrH$a ~m~V ¶mo½¶ H$WZo AmoiIm.
A) n§VàYmZ ho cmoH$g^oÀ¶m gXñ¶mcm àmoQ>o‘ ñnrH$a åhUyZ {Z¶wº$ H$aVmV.
~) àmoQ>o‘ ñnrH$acm AÜ¶jmMo nyU© A{YH$ma àmá AgVmV.
H$) Vmo Zd{Zdm©MrV cmoH$g^oÀ¶m n{hë¶m g^oMo AÜ¶jñWmZ ^yf{dVmo.
n¶m©¶r CÎmao :
1) ’$º$ A, ~ 2) ’$º$ A, H$ 3) ’$º$ ~, H$ 4) darc gd©

6) Select the correct statements about Protem Speaker of Lok Sabha.

A) Prime Minister appoints the Member of the Lok Sabha as the Protem Speaker.

B) The Protem Speaker has all the powers of the Speaker.

C) He presides over the first meeting of the newly elected Lok Sabha.

Answer Options :

1) Only A, B 2) Only A, C 3) Only B, C 4) All of the above

7) ^maVmÀ¶m g§gXoZo 2001 ‘Ü¶o H$m¶Xm H$ê$Z H$moUË¶m dfm©n¶ªV ‘VXmag§Km§Mr nwZa©MZm Ho$br OmUma Zmhr.
1) 2021 2) 2026 3) 2031 4) 2036

7) Parliament of India in 2001 has enacted a law and made provision till which year the

constituencieswill not be reconstituted ?

1) 2021 2) 2026 3) 2031 4) 2036

8) Ooìhm bmoH$g^m Am{U amÁ¶g^m ¶m§À¶m‘Ü¶o EImÚm {dYo¶H$mdê$Z ‘V ôX AgVrb Va g§gXoZo g§¶wº$ A{YdoeZ H$moU
~mobmdVmo?
1) amÁ¶g ôMo AÜ¶j 2) ^maVmMo amï´>nVr
3) bmoH$g^m AÜ¶j 4) ^maVmMo gaÝ¶m¶mYre

8) When there are differences between Lok Sabha and Rajya Sabha over a bill, then who calls the

joint session of Parliament ?

1) Chairman of Rajya Sabha 2) President of India

3) Speaker of Lok Sabha 4) Chief Justice of India
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6) g§gXr¶ H$m‘H$mO
1) amï´>nVr {déÕ ‘hm{^¶moJmMr à{H«$¶m H$moU gwê$ H$ê$ eH$Vo?

1) bmoH$g^m 2) amÁ¶g^m 3) gdm}ƒ Ý¶m¶mb¶ 4) g§gXoMo H$moUVohr g^mJ¥h
1) Who can initiate impeachment proceedings against the President?

1) Lok Sabha 2) Rajya Sabha

3) Supreme Court 4) Any House of Parliament

2) amï´>nVtZr Cnamï´>nVtZm g§~mo{YV Ho$bobm H$moUVmhr amOrZm‘m Ë`m§Zm VËH$mi H$idbm OmB©b:
1) amÁ` n[afXoMo AÜ`j 2) bmoH$m§À`m g^mJ¥hmMo AÜ`j
3) ^maVmMo gaÝ`m`mYre 4) n§VàYmZ

2) Any resignation addressed by the President to Vice-President shall forthwith be communicated y

him to :

1) Speaker of Council of State 2) Speaker of house of people

3) Chief Justiceb of India 4) Prime Minister

3) ^maVmVrb A{dídmgXe©H$ R>amdmg§X^m©V Imbrb {dYmZo bjmV ¿¶m …
A) ^maVmÀ¶m amÁ¶KQ>Zo‘Ü¶o H|$Ðr¶ ‘§{Ì‘§S>im{déÕMm 'A{dídmgXe©H$ R>amd' Agm C„oI H$aÊ¶mV Ambobm Zmhr.
~) A{dídmgXe©H$ R>amd hm Ho$di bmoH$g ô‘Ü¶oM ‘m§S>Vm ¶oVmo.
darbn¡H$s H$moUVo {dYmZ/{dYmZo {~ZMyH$ AmhoV?
1) ’$º$ A 2) ’$º$ ~ 3) XmoÝhr 4) darbn¡H$s H$moUVohr Zmhr

3) Consider the following statements regarding a No-confidence Motion in India :

a) There is no mention of a ‘No-confidence Motion’ against the Union Council of Ministers in

the Constitution of India.

b) A motion of No-confidence can be introduced in the Lok Sabha only.

Which of the statements given above is/are correct ?

1) Only a 2) Only b 3) Both 4) None of the above

4) Imbrb {dYmZo dmMm Am{U MwH$sMo {dYmZ {ZdS>m …
1) g§gX ^maVmÀ¶m g§nyU© ŷ̂ mJmgmR>r H$m¶Xm H$ê$ eH$Vo, AZwÀN>oX -245.
2) g§gXobm H$mhr A{V[aº$ Ý¶m¶mb¶o ñWmnZ H$aÊ¶mMm A{YH$ma Amho, AZwÀN>oX -247.
3) H$m¶ÚmMo Ad{eï> A{YH$ma, AZwÀN>oX - 248.
4) g§gXobm H$a bmdÊ¶mMm A{YH$ma Amho. AZwÀN>oX - 246

4) Read the following statement and choose the incorrect statement :

1) Parliament may make law for the whole part of the territory of India, Article 245.

2) Parliament has power to provide for the establishment of certain additional courts, Article

247.

3) Residuary powers of legislation, Article 248.

4) Parliament has power to impose tax, Article 246

7) g§gXr¶ g{‘Ë¶m
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CÎmao

(7) H|$Ð gaH$ma

H|$Ðr` H$m ©̀H$m[aUr, g§gX

1) amï´>nVr Am{U Cnamï´>nVr

1-4 2-1 3-4 4-3 5-3 6-3 7-1 8-3 9-3

2) n§VàYmZ Am{U ‘§Ìr‘§S>i

1-1 2-4 3-3 4-2

3) ̂ maVmMm ‘hmÝ¶m¶dmXr

1-3 2-4

4) ̂ maVmMm {Z¶§ÌH$ d ‘hmboImnarjH

1-2 2-1

5) amÁ¶g^m d bmoH$g^m

1-2 2-1 3-3 4-4 5-3 6-3 7-2 8-2

6) g§gXr¶ H$m‘H$mO

1-4 2-2 3-3 4-4


